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lar Fit. distance from the wire: 1 mm

Sergey (left) vs Sonya (right)

Moment of 10 mV crossing Moment of 10 mV crossing
= Entries 1250 Entries 1000
Lol 2252 Mean 24.69
m 4.149 Std Dev 4559
E 96.79/23 ¥2/ ndf 69.82/22
2o 5.02e-11 P 7.053e-07
E 141557 Constant 119.3£5.1
100 2214012 Mean 24.33£0.14
£ 3.248 £0.092 Sigma 3.605+0.100
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Garfile

o Field, no Angular Fit. distance from the wire: 1 mm

Sergey (left) vs Sonya (right). No LTSpice

second cluster drift time, zero field second cluster drift time, zero field
Second_cluster_drft_iime
Entr 5000
Mean 13.04
Std Dev 1.343
Underflow 6
Overflow 3750
3 284.9/69
Prob 4.891e-28
Constant 716 £555
MPV 12,20 £ 0.02
Sigma 0.137 £0.010
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ek
Cross-check between Sergey, Sonya & Dosbol

Second cluster drift time compare, distance from wire 1 mm

Second chuster drft time cross-check, distance from wire 1 mim
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Seraey's aid data

Sonya's new data
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lar Fit. distance from the wire: 1 mm

Sergey (left) vs Sonya (right). Distanse: 1 mm

Moment of 10 mV crossing Moment of 10 mV crossing
= Entries 1250 Entries 1000
Lol 2252 Mean 24.69
E 4.149 Std Dev 4559
E 96.79/23 %2/ ndf 69.82/22
2o 5.02e-11 P 7.053e-07
E 141557 Constant 119.3£5.1
100 2214012 Mean 24.33£0.14
£ 3.248 £0.092 Sigma 3.605+0.100
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Fit distance fiom the wire: 1 mm
MPV: then(left) and now(right)

Old (TDR) MPV from distance to wire New MPV from distance to wire
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Fit distance fiom the wire: 1 mm
Sigma: then(left) and now(right)

Old (TDR) Sigma from distance to wire New Sigma from distance to wire
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Fit distance fiom the wire: 1 mm
Compare Sergey's data (red) and Sonya's data (blue)

New Sigma from distance to wire New MPV from distance to wire
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	Garfiled: no Field, no Angular
	Fit. distance from the wire: 1 mm


